-.

SAVI GROUP

TL20900
AUTO CARROSSERIE VERPLAATSER 1200 KG

Deze auto-carrosserie transporter heeft een draagvermagen van 1200 kg en is eenvoudig instelbaar.

PKW-KAROSSERIE FAHRWAGEN 1200 KG

Dieser Karosserietransporter hat eine Tragfahigkeit von 1200 kg und ist leicht einstellbar.

CHARIOT POUR DEPLACEMENT CARROSSERIE 1200 KG

Ce chariot pour carrosserie a une capacité de charge de 1 200 kg et est facilement ajustable.

CAR DOLLY 1200 KG

This car body transporter has a load capacity of 1200 kg and is easily adjustable.

SV

CREATEUR D'OUTILS

Verklaring van conformiteit

Wi, de firma Rodac International B.V., Nijverheidsstraat 1, 6135 KJ Sittard, Nederland, verklaren
hiermee dat het hier vermelde gereedschap, waarop deze verklaring betrekking heeft, in overeenstem-
ming met de normen en normatieve documenten, overeenkomstig de bepalingen van de EG-richtlijnen
89/336/EEC, EN 55022 en EN 55024 onder onze exclusieve verantwoordelijkheid valt.

Declaration of Conformity

We, the compnay Rodac International B.V., Nijverheidsstraat 1, 6135 KJ Sittard, The Netherlands,
declare on our exclusive responsibility that the tool described below, to which this declaration refers,
conforms to the norms and normative documents as defined in the provisions of 89/336/EEC, EN
55022 and EN 55024

Konformitétserkldrung

Wir, Rodac International B.V., Nijverheidsstraat 1, 6135 KJ Sittard, Niederlande, erkldren hiermit, dass
die nachfolgend bezeichnete Maschine aufgrund ihrer Konzipierung und Bauart sowie in der von uns in
Verkehr gebrachten Ausfiihrung den einschldgigen grundlegenden Sicherheits- und Gesundheitsanfor-
dungen der EG-Maschinenrichtlinie 89/336/EEC, EN 55022 en und EN 56024 entspricht.
Déclaration de Conformité

Nous, a société Rodac International B.V., Nijverheidsstraat 1, 6135 KJ Sittard, Pays Bas, déclarons
que Uoutil sous-mentionné, qui fait L'object de la déclaration, se trouve, sous notre responsabilité
exclusive, en conformité avec les normes et documents normatifs conformément aux dispositons des
directives 89/336/EEC, EN 55022 et EN 55024 .

Dichiarazione di Conformitd

Noi, Rodac International B.V., Nijverheidsstraat 1, 6135 KJ Sittard, Olanda, con la presente dichiariamo
che gli utensili sotto elencati, ai quali si riferisce la presente dichiarazione, sono conformi alle
normative e alle documentazionie normative come da dirrettive n 89/336/EEC, EN 55022, EN 55024 , e
di questo ci assumiamo la piena responsbilita.

Overensstemmelsesattest

Vi, Rodac International B.V., Nijverheidsstraat 1, 6135 KJ Sittard, Holland, erklarer, at det her anfarte
verktgj, som erkleringen referer til, ene og alene star under vores ansvar i overensstemmelse med
standarderne og de normgivende dokumenter, svarende til bestemmelserne i henhold til 89/336/EEC,
EN 55022, EN 55024 .

Konformitetserklaering

Vi, Rodac International B.V., Nijverheidsstraat 1, 6135 KJ Sittard, Holland, erklaerer, at vi alene beerer
ansvaret for verkayet som er oppfart her og som erkleringen referer seg til, i overensstemmelse med
standardene og de normative dokumentene og i henhold til bestemmelsene i 89/336/EEC, EN 55022
en EN 55024 .

Sittard, 01-06 2019

F. CHAMPAVERE, CEO

Technische Specificaties

Technical Specifications - Technische Daten -
Données Techniques -Dati Technici - Muttertrekere -
Tekniske Data - Tekniske Data

Nijverheidsstraat 1 e 6135 KJ Sittard ¢ P.O. Box 353 ¢ 6130 AJ Sittard e The Netherlands
RODAC.COM INFO: NL: +31 (0)46 458 2299 o BE/LUX: +32 (0)2 33134 34 o D: + 49 (0] 3222 1681310 SAM.EU

E-MAIL NL: infoldsam-rodac.com e BE/LUX: belux@sam-rodac.com ¢ RODAC.COM




-.

SAVI GROUP

S

CREATEUR D'OUTILS

TL20900
N2 | REFERENCE DISCRIPTION Q’TY | N® REFERENCE DISCRIPTION QTY
1 TL2090001 SCREW M6X10 4 15 | TL2090015 SCREW 2
2 TL2090002 PRESSING BOARD 2 16 | TL2090016 ADAPTOR 2
3 TL2090003 DEPRESSION BAR 2 17 | TL2090017 BLOCK 2
4 TL2090004 PRESSING BOARD 2 18 | TL2090018 EXTENSION ARM 2
5 TL2090005 BOLT M12X35 4 19 | TL2090019 MAIN BEAM 1
6 RPEW12 WASHER 12 6 20 | TL2090020 SUPPORT BEAM 2
7 TL2090007 SPRING 4 21 | TL2090021 SPRING WASHER 10 8
8 RPEN12 NUT M12 2 22 | RPEN10 NUT M10 8
9 TL2090009 BEARING POST 2 23 | TL2090023 BOLT M8X20 16
10 | TL2090010 BOLT M12X70 2 24 | RPEWO08 WASHER 8 16
11 | RPEW10 WASHER 10 2 25 | RPENO8 NUT M8 16
12 | TL2090012 BOLT M10X25 10 26 | TL2090026 CASTER 2
13 | TL2090013 KNOB 2 27 | TL2090027 CASTER WITH BRAKE 2
14 | TL2090014 SPRING PIN 2
Nijverheidsstraat 1 e 6135 KJ Sittard ¢ P.O. Box 353 ¢ 6130 AJ Sittard e The Netherlands
RODAC.COM INFO: NL: +31 (0)46 458 2299 o BE/LUX: +32 (0)2 33134 34 o D: + 49 (0] 3222 1681310 SAM.EU

E-MAIL NL: infoldsam-rodac.com e BE/LUX: belux@sam-rodac.com ¢ RODAC.COM




